
https://carre-lutz.com/acatalog/Pieces-detachees-pour-appareils-Invicta-p1.html
https://clpieces.com/pi%C3%A8ces-detach%C3%A9es-pour-appareil-de-chauffage-invicta


Poêle à bois ARATOS référence 6453 44
REP. DESIGNATIONS REFERENCES OTE

JOINT VITRE THERMOCORDE 05 LR 1,6 m AI303005 1
JOINT FAÇADE THERMOCORDE 012 Le 2,2 m AI303012 1
JOINTTAQUE THERMOCORDE 012 LR 1,1m AI303012 1
JOINTTAMPON THERMOCORDE 08 Le1,0 m AI303003 1

1 VIS EXCENTRIQUE AS610125 1
2 BAGUE EXCENTRIQUE AS610170 1
3 VIS LOQUET AS618100 1
4 CLAMS AS700130 6
5 REGISTRE AIR SECONDAIRE AT610458 1
6 EQUERRE AT610459 1
7 CENDRIER AT610460 1
8 REGISTRE AIR PRIMAIRE AT610461 1

TÔLE APPUI9 AT610462 1
RONDELLE M 06 AV4100060 4
RONDELLE L 06 AV4110060 4
RONDELLE RESSORT AV4170081 2
RONDELLE LL 06 AV4216250 6
GOUPILLE 0 6 x 2 5 AV6306250 1
GOUPILLE 0 6 x 3 01 4b AV63Q63QQ 1
ECROU BORGNE M6 AV7140060
ECROU A EMBASE M6 AV7220060 8
VIS TH M6xl0 AV8406100 3

3
VIS TH M6x40 3AV8406400
VIS FHC M6x25 AV8636250 2
VIS M4x6 AV8644067 6
VIS TBEHC M6xl2 AV8696120 2

4
GOUJON M6x25 AV8706250 4
VITRAGE AX605344 1
SOCLE F612270 1
FOND GAUCHE F612271 1
FOND DROIT F612272 1
FACADE F612273 1
GUIDE D'AIR F612274 1
AVALOIR F612275 1

1
TAMPON SOCLE F612277 1
TAQUE F612278 1
DEFLECTEUR F612279 1
COIFFE DECORATIVE F61228Q 1

1
GRILLE FOYERE DROITE F612282 1
POIGNEE F612283 1


